Chapter 6 – Identifying and Choosing Opportunities
True/False Questions

1.
Market penetration is the growth approach in which the firm focuses on existing products and markets.


True  (easy)

2.
Product and market diversification focuses on growth that is consistent with the firm’s core competencies and has the least knowledge risk.


False  (moderate)

3.
All things being equal, product extension is more distant from the firm’s technological base than product expansion and is therefore more risky.


False  (difficult)

4.
Entry into another English-speaking country for a domestically based firm in the English-speaking world would be considered a market extension.


True  (moderate)

5.
Conglomeration by a direct entry is the growth option where the level of risk is clearly the greatest.


True  (moderate)

6.
In the segmenter strategy, new products and services are typically introduced as a result of consistent and extensive R&D spending.


False  (moderate)

7.
FedEx is an example of a company that today commonly pioneers new products.


False  (moderate)

8.
Whereas the pioneer firm places extensive effort in producing new-to-the-world products and services via high investment in research, follow-the-leader firms focus attention on development.


True  (moderate)

9.
For the segmenter strategy, technological expertise is no longer the driving force; rather, marketing research to understand customers and identify potential market segments is the major skill required.


True  (moderate)

10.
Companies implementing me-too strategies enter mature markets with limited product lines..


True  (moderate)

11.
Positive synergy reflects the notion that 2 + 2 = 3.


False  (moderate)

12.
Negative synergy occurs when pursuing a new opportunity would cause revenues and profits from existing products to be reduced.


True  (moderate)

13.
According to the text, speed is the major advantage of the internal development method of achieving growth.


False  (difficult)

14.
Disadvantages of internal development include access to resources, expertise, and time.


True  (difficult)

15.
Incorporating activities previously conducted by customers is referred to as backward vertical integration.


False  (moderate)

Multiple Choice Questions

16.
Which of the following is NOT a dimension focused on the internal resources when a company is articulating its mission?

a.) Core ingredient

b.) Technology

c.) Product or service

d.) Customer needs  (moderate)

17.
Growth path is specifically concerned with the trade-off between expected financial return and risk, and a firm must consider all of the following factors EXCEPT:

a.) The revenue and profit potential of its opportunities

b.) Its core competencies

c.) All selections are critical factors to consider  (difficult)

d.) Its assessment of risk

18.
In which of the following growth approaches does the firm focus on existing products and markets?

a.) Market penetration  (easy)

b.) Product growth

c.) Market growth

d.) Product and market diversification

19.
Which of the following is NOT mentioned in the text as one of the four approaches for growth that are embedded in the growth path matrix?

a.) Market penetration

b.) Product growth

c.) Market growth

d.) Cultural growth  (moderate)

20.
The _______________ option focuses on growth that is constant with the firm’s core competencies and has the least knowledge risk.

a.) market penetration  (moderate)

b.) product growth

c.) market growth

d.) product and market diversification

21.
All things being equal, _______________ is more distant from the firm’s technological base than _______________ and is therefore more risky.

a.) market extension; market expansion

b.) product extension; product expansion

c.) product expansion; product extension  (difficult)

d.) market extension; product expansion

22.
For a bank skilled in making corporate loans, lock-box services would be considered a _______________.

a.) market expansion

b.) product expansion

c.) product extension  (moderate)

d.) market extension

23.
Ski resorts that expand their range of offerings beyond skiing to include ice-skating, downhill sledding, dog-sledding, snowmobiling, and tubing are practicing _______________.

a.) market expansion

b.) product expansion

c.) product extension  (moderate)

d.) market extension

24.
Entry into another English-speaking country for a domestically based firm in the English-speaking world would be considered a _______________.

a.) market expansion

b.) product expansion

c.) product extension

d.) market extension  (moderate)

25.
For a domestically based firm in the English-speaking world, entry into a non-English-speaking country would be considered a _______________.

a.) market expansion  (moderate)

b.) product expansion

c.) product extension

d.) market extension

26.
In which of the following growth options is the level of risk clearly the greatest?

a.) Market penetration

b.) Product extension

c.) Market expansion

d.) Conglomeration  (easy)

27.
According to the text, firms with high levels of technical expertise would be better off pursuing a _______________ strategy.

a.) market-growth

b.) product-growth  (moderate)

c.) customer-growth

d.) cultural-growth

28.
In which of the following strategies are new products and services typically introduced as a result of consistent and extensive R&D spending?

a.) Pioneer  (moderate)

b.) Follow-the-leader

c.) Segmenter

d.) Me-too

29.
_______________ is the name for firms that blaze trails and create and innovate new markets by consistent and extensive R&D spending.

a.) Follow-the-leader

b.) Segmenter

c.) Me-too

d.) Pioneer  (moderate)

30.
Even when monopoly positions cannot be achieved, firms that successfully pioneer new markets may enjoy _______________ . These are a set of benefits that may accrue simply because the pioneer was the first entrant.

a.) first-mover advantages  (moderate)

b.) follow-the-leader advantages

c.) segmenter advantage

d.) me-too advantages

31.
Which of the following companies possesses the R&D skills and internal processes to consistently develop new products and services and has the marketing capabilities to open up new markets?

a.) Follow-the-leader

b.) Segmenter

c.) Me-too

d.) Pioneer  (moderate)

32.
Whereas _______________ place extensive effort in producing new-to-the-world products and services via high investment in research, _______________ focus attention on development.

a.) follow-the-leader firms; pioneer firms

b.) pioneer firms; follow-the-leader firms  (difficult)

c.) segmenter firms; pioneer firms

d.) follow-the-leader firms; segmenter firms

33.
Which of the following strategies can be extremely effective when the market is fairly well developed?

a.) Pioneer strategy

b.) Follow-the-leader strategy

c.) Segmenter strategy  (moderate)

d.) Innovator strategy

34.
For which of the following strategies is technological expertise no longer the driving force; rather, marketing research to understand customers and identify potential markets are the major skills required?

a.) Pioneer strategy

b.) Follow-the-leader strategy

c.) Segmenter strategy  (moderate)

d.) Innovator strategy

35.
To create shareholder value, _______________ require a low-cost position.

a.) pioneer strategies

b.) follow-the-leader strategies

c.) segmenter strategies

d.) me-too strategies  (moderate)

36.
______________ firms enter mature markets with limited product lines.

a.) Follow-the-leader

b.) Segmenter

c.) Me-too  (moderate)

d.) Pioneer

37.
Many Chinese firms pursue or have pursued which of the following market-entry approaches? 

a.) Follow-the-leader

b.) Segmenter

c.) Me-too  (moderate)

d.) Pioneer

38.
Which of the following is NOT a subconstruct that is embraced by the concept of fit?

a.) Product-market fit

b.) Product-company fit

c.) Company-market fit

d.) Company-culture fit  (moderate)

39.
_______________ addresses the question of whether the product is appropriate for the market.

a.) Product-market fit  (moderate)

b.) Product-company fit

c.) Company-market fit

d.) Company-culture fit

40.
According to the text, which of the following subconstructs of fit should the firm assess through market research and market testing?

a.) Product-market fit  (moderate)

b.) Product-company fit

c.) Company-market fit

d.) Company-culture fit

41.
The skills and resources required to engage in continual product upgrading and marketing the product successfully are referred to as _______________.

a.) Product-market fit

b.) Product-company fit  (moderate)

c.) Company-market fit

d.) Company-culture fit

42.
Which of the following subconstructs of fit would be apply in the following example? “A firm is skilled at manufacturing, promoting, and distributing a product in its home market and ascertains through market research that a foreign market seems attractive. However, the problem is that the firm has no presence in, and little knowledge of, the foreign market.”

a.) Product-market fit

b.) Product-company fit

c.) Company-market fit  (difficult)

d.) Company-political fit

43.
Positive synergy reflects the notion that _______________.

a.) 2 + 2 = 3

b.) 2 + 2 = 5  (moderate)

c.) 5 – 3 = 2

d.) 5 – 3 = 3

44.
_______________ occurs when pursuing a new opportunity would cause revenues and profits from existing products to be reduced.

a.) Positive synergy

b.) Negative synergy  (moderate)

c.) Theoretical synergy

d.) Hypothetical synergy

45.
Which of the following methods of achieving growth is perhaps the most widespread among major corporations?

a.) Internal development  (moderate)

b.) Acquisition

c.) Strategic alliances

d.) Equity investment

46.
Which of the following methods of achieving growth has resource access and timing as major disadvantages?

a.) Internal development  (moderate)

b.) Acquisition

c.) Strategic alliances

d.) Licensing and technology purchase

47.
According to the text, speed is the major advantage for which method of achieving growth?

a.) Internal development

b.) Acquisition  (moderate)

c.) Strategic alliances

d.) Licensing and technology purchase

48.
Disadvantages of internal development include all of the following EXCEPT:

a.) Resource access

b.) Expertise

c.) Time

d.) Cost  (moderate)

49.
_______________ takes place when a firm engages other firms to undertake activities it previously conducted in-house.

a.) Outsourcing  (moderate)

b.) Insourcing

c.) Re-engineering

d.) Divestment

50.
Contracting with a non-U.S.-based firm to handle some business processes is called ___________.

a.) offshoring  (moderate)

b.) insourcing

c.) outsourcing

d.) divestment

51.
Options for implementing a growth strategy include all of the following EXCEPT:

a.) Internal development

b.) Insourcing

c.) Equity investment

d.) Divestment  (moderate)

52.
_______________ is concerned with taking a purchased activity and conducting it in-house.

a.) Outsourcing

b.) Insourcing  (moderate)

c.) Re-engineering

d.) Divestment

53.
Incorporating activities previously conducted by customers is referred to as _______________.

a.) forward horizontal integration

b.) forward vertical integration  (moderate)

c.) backward horizontal integration

d.) backward vertical integration

54.
Which of the following best describes the type of integration that results from a firm incorporating activities previously conducted by suppliers?

a.) Forward horizontal integration

b.) Forward vertical integration

c.) Backward vertical integration  (moderate)

d.) Backward leapfrog integration 

54.
Generally, _____________ addresses poor product-company fit and/or poor company-market fit without the capital investment and risks inherent with acquisitions.

e.) Equity investment

f.) Internal development

g.) Strategic alliances

h.) insourcing
Essay Questions 

56.
In a short essay, list and discuss the four strategic options for the timing of market entry.


Answer

a.) Pioneer – the name for firms that blaze trails and create and innovate new markets by consistent and extensive R&D spending. They accept risk and understand that failure often accompanies success.

b.) Follow-the-leader – these firms enter rapidly growing markets on the heels of pioneers. Pioneers make large research investments to develop innovative new products and services; follow-the-leader firms focus on development.

c.) Segmenter – these firms enter established markets in late growth by adding value for specific segments. Segmenter strategies can be very effective in these maturing markets.

d.) Me-too – these companies enter mature markets with limited product lines. They base their low-price/low-cost strategies on value engineering, efficient high-volume production, low overhead, aggressive procurement, and great attention to detail.

(moderate)

57.
In a short essay, list and discuss the four archetypal approaches for growth according to the “growth path matrix.” Include the variation of risk that is involved in each of these approaches.


Answer

a.) Market penetration – growth focuses on the firm’s existing set of products and markets. A firm using this growth strategy invests in its current businesses; it neither seeks new markets nor develops new product forms. Growth is secured via market penetration, selling existing or slightly modified products to its existing markets of current customers, competitors’ customers, and non-users. Inasmuch as this form of growth is consonant with the firm’s core competencies, the market penetration option has the least knowledge risk.

b.) Product growth – the matrix framework distinguishes two types of product growth strategy, extension and expansion, based on the closeness to, or distance from, the firm’s current business on a product/technological dimension. In both cases, new products are offered to the firm’s existing markets. All things equal, because product expansion is more distant from the firm’s technological base than product extension, it is more risky.

c.) Market growth – the matrix framework distinguishes two types of market growth strategy, extension and expansion, based on closeness to, or distance from, the firms’ current business on a market dimension. In neither case does the set of products offered change substantially. As with the product strategy options, the more different new markets from those currently targeted by the firm, the greater the risk.

d.) Product and market (business) diversification – whereas in each of the previously discussed strategies a change is made on no more than a single dimension, for product and market diversification strategies, change occurs on each of the two key dimensions, market and product/technology. The greatest change is for conglomeration where both the market and product/technology are new; for this double expansion strategy (conglomeration), the level of risk is clearly greatest.

(moderate)

58.
In a short essay, list and discuss the three forms of fit that relate to qualitative screening criteria.


Answer

a.) Product-market fit – addresses the question of whether the product is appropriate for the market. This type of fit should be assessed through market research and market testing. Simply stated, does the product satisfy the needs of customers in the targeted market segments in such a way that it offers advantage over competitors?

b.) Product-company fit – the skills and resources required both to engage in continual product upgrading and to market the product successfully. Potential competitive response may be such that, despite the possibility of a successful entry, the firm does not have the depth of financial, human, and other resources to be successful over the long run.

c.) Company-market fit – such situations often occur in potential geographic expansions. For example, the firm may be skilled at manufacturing, promoting, and distributing the product in its home market and may ascertain through market research that a foreign market seems attractive. The problem is that the firms has no presence in, and little knowledge of, the foreign market. Thus, poor company-market fit may lead to a no-go decision.

(moderate)

59.
In a short essay, list and discuss two advantages and two disadvantages of internal development over alternate growth modes.

Answer


Advantages of internal development over alternative growth modes
a)  Control – the firm has control over the entire development process

b)  Cost – internal development is typically less expensive than securing new products by acquisition and other means.

Disadvantages of internal development over alternative growth modes

a)  Expertise – the firm must successfully direct the R&D effort, or the resulting products may require commercialization skills the firm does not possess.

b)  Resources – some resources may be unavailable, or too expensive to develop or acquire

c)  Time – market windows are increasingly short:  internal development takes time
(moderate)

60.
In a short essay, list and discuss the difference between insourcing and outsourcing.

Answer

a.) Insourcing – the firm captures more added value in the supply chain by undertaking additional activites in developing, producing, marketing, distributing, and promoting.  The firm can expand upstream by conducting supplier activites – backward integration, or downstream by conducting customer activites – forward integration.
b.) Outsourcing – the firm engages other firms to undertake activities it previously conducted in-house.  With outsourcing, the firm can better focus resources on delivering customer value and securing differential advantage.
(moderate)
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